JL_

Identify Linear Functions (Table) Name:
Determineif the table shown representsalinear function (yes) or not (no). Answers
D) [yo/X +4 2) [Y=X 3 | Y=6"+8
X1 v x|y x| v L
10 | 7.162 111 -1| 8.167
1| 5 3|3 -2| 8.028 2
4 6 6|6 -5 8.000
6 | 6.449 7|7 -6 | 2,100.000 3.
8 | 6.828 919 8 | 1,679,624
4.
5.
4) > 5) | Y=4xX-(Xx-1) 6) |Y=4+X
Y= X 6
—r— X Y XY :
-3 -15 1] 3
-10 | 10.000 5 20 > 6 7.
-1 | 1.000
- -4 7111
-7 | 7.000 f 50 5T 5
0 | 0.000 8 40 9|13
9 | 9.000
9.
10.
L Y:X/7><6 8 | y=x’ 9 |y=x+a
—r— X | Y X | Y 1
-10|-8.571 ~10]-100 1] 12
1 [-0857 4 | -16 2|8 '
-2 |-1714 '68 '22 "71 ég
110857 8 | -64 3|13
8 | 6.857
10 - 11 X 12
) YX x:(e o 7 ) N
10116 X| Y X | Y
B -2(2.500 -5 | 4.690
o 12 -4 2 -6 | 5.745
=113 -5|1.750 10 | 9.849
) -6 |1.500 2 | 1.000
6 | 4.500 4 | 3.606
1-10 | 9283 75|67 [58[50] 4233|2517 |
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C:# Identify Linear Functions (Table) Name: Answer Key

Determineif the table shown representsalinear function (yes) or not (no). Answers
D ly=n/X +4 2) |y==X 3) Y=6"+8 no
X | v XY X Y L
10 | 7.162 111 1| 8.167
1] 5 -3|3 2| 8028 2 yes
4 6 6|6 5| 8.000
6 | 6.449 717 -6/ 2,100.000 3. no
8 | 6.828 91-9 8 | 1,679,624
4. no
5, yes
4 B) | Y=dxX-(Xx-1 6) [ y=4+X
Y= X2 X ( X ) 6 yeS
— X Y XY :
-3 -15 1] 3
-10 | 10.000 - =0 e , yes
-1 | 1.000
- -4 711
-7 | 7.000 f 50 T . no
0 | 0.000
8 40 9 (13
9 | 9.000 . no
10. YES
N Y="/ox6 8 | y=x’ 9 |v=x%+4
’ <y X | Y 11. YEs
X| Y
10l 8571 -101-100 1] 5 . o
1 (0857 -4 | -16 2| 8 :
2 [-1714 ': '22 "7‘ ég
1 | 0857 s BEC
8 | 6.857
10 — 11 X 12
) YX X;G ) Y:3+/4 ) v= 4 X33
10116 X| Y X | v
BE -2(2.500 -5 | 4.690
PR 4| 2 -6 | 5.745
= T13 -5(1.750 10 | 9.849
-1 -6|1.500 2 | 1.000
6 | 4.500 4 | 3.606
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